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1. Use the information that

3.9 x46 =179.4
to find the value of
(a) 3.9 x 4.6
(b) 3900 x 0.46
2. Use the information that
23 x 56 = 1288

to find the value of

(a) 2.3 x 56

(b) 0.23 x 56000

dec.x /+(11) 1a) 17.94, 1b) 1794 2a) 128.8, 2b) 12880 3a) 14896, 3b) 148960 4a) 26.64, 4b) 2664
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3. Use the information that

to find the value of

(a) 28 x 532

(b) 2.8 x 53200

4. Use the information that

to find the value of

(a) 3.6 x 7.4

(b) 0.36 x 7400

3. Use the information that

to find the value of

(a) 28 x 532

(b) 2.8 x 53200

4. Use the information that

to find the value of

(a) 3.6 x 7.4

(b) 0.36 x 7400

28 x 53.2 = 1489.6

36 x 7.4 = 266.4

28 x 53.2 = 1489.6

36 x 7.4 = 266.4
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